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NOTES: Section 8.4 - Multiply and Divide Rational
Expressions

Goals: #1 - [ can simplify rational expressions.

#2 - | can multiply rational expressions.

o
~

#3 - | can divide rational expressions. \ o4 &5 o

Homework: Lesson 8.4 Worksheet

Notes:

A H}\Jf1 0 ﬂ(u expression isin %\m? \e Slf %0 Y m

if its numerator and denominator have no common factors (other than 1).

T . \ rational expressions, first ? Q\LWY the numerator and

0
Q‘ (\ ‘v\'“ Y the denominator. Then C&Y\ LQ\ out any common factors.

Example #1: Simplify the expression.
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Notes:

To l\l\J\’ﬂU\u rational expressions, first ¥ (H\’\W each
numerator and denomlnator Then, multiply Y\\\W\Q Y U\TO Y\ and multiply

d\“\(\ﬁ\\nuj‘ 0¥y and S\M?hh\-}l

Example #2: Multiply the expressions. Simplify the result.

. Jj.vt;-—‘ljx_"'5.x2 +3xx—20 2,%-@(24—3){*—9)

Sx\ =X (xr9KXY) (+2) L (xe3xed)

X+5)(x-1) 3-X (x-3) (X *3x+9) \
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You practice: Multiply the expressions. Simplify the result.
. 6x%-18x x*-x-2
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Notes:

To_(l \j\d\l_ rational expressions, change it to a _YYI\) \)ﬂ?“ (100
problem. Multiply by the Y( U p ' 0 LM of the second rational expression.

F& l TO{ each numerator and denominator. Then, multiply

AU YT LS. anamutipty_(LON0 DAL AAFONS ana SIMPLEY

Example #3: Divide the expressions. Simplify the result.

7x . x*-6x 4x | x*-2x
L T ¥ _11x+30 2.5 20 xP-6x+8
X (-9 k) ax XD
[(x-9)  X(X-b) D X (x-2)
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You practice: Divide the expressions. Simplify the result.
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